The group G is isomorphic to the group labelled by [ ”could not identify G” | in the Small Groups library.
Ordinary character table of G = M11:

la 2a 3a 4a ba 6a 8a 8b 11la 11b

X1 1 1 1 1 1 1 1 1 1 1

x2 |10 2 1 2 0 -1 0 0 -1 -1

x3 |10 -2 1 0 0 1 ER)+FE@8)3 —E(8)—FE(8)3 -1 -1

x4 |10 =2 1 0 0 1 —FE@®B)—E@R)3 E@B)+E®8 3 -1 -1

x5 |11 3 2 -1 1 0 -1 -1 0 0

x¢ |16 0 -2 0 1 0 0 0 E(11)+ E(11y 3+ E(11) 4+ E(11y 5+ E(11)°9 E(11y 24+ E(11y 6+ E(11y 7+ E(11)" 8+ E(11)" 10

x7 |16 0 -2 0 1 0 0 0 E(11y 24+ E(11y 6+ E(11y 7+ E(11)" 8+ E(11)" 10 E(11)+ E(11y 3+ E(11y 44+ E(11) 5+ E(11)°9

xs |44 4 -1 0 -1 1 0 0 0 0

Xo |45 =3 0 1 0 0 -1 -1 1 1

X0 |5 -1 1 -1 0 -1 1 1 0 0
Trivial source character table of G & M11 at p = 11
Normalisers N; Ny Ny
p — subgroups of G up to conjugacy in G Py P,
Representatives n; € N; la 2a 3a 4a ba 6a 8a 8b la 5a 5a 5a
1-x1+1-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-x8+0-x9+0-x10| 11 3 2 3 1 0 1 1 0 0 0 0
O-x1+1-x2+0-x3+0-x4+0-x5+0-x6+0-x7+0-xs+1-x9+0-x10|5 -1 1 3 0 -1 -1 -1 0 0 0 0
0-x1+0-x2+1-x3+0-x4+0-x5+0-x6+0-x74+0-xs+1-x9+0-x10|5 -5 1 1 0 1 —-1+4EQ®+E®B"3 -1-EQR)—E®)"3]|0 0 0 0
0-x1+0-x24+0-x3+1-x4a+0-x5+0-x6+0-x7+0-xs+1-x0+0-x10|5 -5 1 1 0 1 —-1-FEQ®)—FE@®B"3 —-1+EQ®+FE®B 3|0 0 0 0
0-x14+0-x2+0-x34+0-x4a+1-x54+0-x6+0-x7+0-xs+0-x90+0-x10 |11 3 2 -1 1 0 -1 -1 0 0 0 0
O0-x1+0-x24+0-x34+0-x44+0-x5+1-x6+1-x7+0-xs+1-x0+0-x10|77 -3 —4 1 2 0 —1 -1 0 0 0 0
O0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x74+1-xs+0-x90+0-x104 4 -1 0 -1 1 0 0 0 0 0 0
O-x14+0-x24+0-x34+0-x44+0-x54+0-x6+0-x7+0-xs+0-x9+1-x10/5 -1 1 -1 0 -1 1 1 0 0 0 0
1-x14+0-x24+0-x34+0-xa+0-x5+0-x6+0-x7+0-xs+0-x9+0-x10]| 1 1 1 1 1 1 1 1 1 1 1 1
O0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x74+0-xs+1-x90+0-x10|45 -3 O 1 0 0 —1 -1 1 E(B)3 E(5) E(By 4 E(5)
0-x1+0-x24+0-x34+0-x44+0-x54+0-x6+0-x7+0-xs+1-x90+0-x10[45 -3 O 1 0 0 -1 -1 1 E(B)y2 EGBI4 EB) EOB)
0-x1+0-x24+0-x3+0-x4+0-x54+0-x6+0-x7+0-xs+1-x0+0-x10|45 -3 O 1 0 0 -1 -1 1 EGBY4 EGBI3 EGB)2 E(
0-x1+0-x2+0-x3+0-x4+0-x5+0-x6+0-x74+0-xs+1-x9+0-x10|45 -3 0 1 0 0 -1 -1 1 E() EGBI2 E(B)3 E
Py = Group([()]) = 1
P, = Group([(1,8,11,10,6,9,3,4,5,2,7)]) = C11

Ny = GT’OUp([( ’ 73 8)( 75 6 9)?(27
(3

10 o
= Group([(2,10,8,6,9)(3,11,5,7,4),(1,8,11,10,6,9,3,4,5,2,7)]) = C11 : C5



